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Part A

Section Id : 920906265
Section Number : 1
Section type : Online
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Number of Questions : 21
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Section Marks : 100
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Sub-Section Id : 920906434
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Is Section Default? : null



Question Id : 92090613367 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

el fau U T ®1 eyde Uge] Ui & I -

arad # S2-UH ol 98 TUEA ¢ S 4H, SIfd, 59 & WEHIG DI g B Udhdl & 3R YR #
Fa@! fiRkl a1 81 |G &1 HHi0l WG B g B o WA g faume wgeadn, @,
eHHfA Ud ISRd1 $T U3 UGl 81 3k 2 UF o fay 7 U1 Ud Aaiy &1 Uy SuHE
gg HIFd ged &1 WrHIfd® gt g1 fayad 341 &1 Fard g1 1 Yadrdt 391 Wew d o4 ¥
Jqudd d® &, BRI Ud Hie-Agdl A & G- gial g; R ol Jrgyf @ 3@ Im
3felifre gl g |

fOh= SHRT 2 HURd i fay & GHwd 330 & Yerad 8| IR T UieR fdag 7iRd favre uiey @1
Jullyd ard feured it goe 81, Yo afémn ¥ faxma 9rR forgd aFd =Rl &1 gERr
TE1 81, 9] W NShdd JHY-H0g U SOl UH UTaH SATHT &1 gerdl 8, s Aiarer |
IHEd A B Fadl ©id O Udld 8idl 8, AH UPfa aararsd el A&l ggad 3R
urddt #1 ufdzar yrRu S PR W iy g &t |reqr $a o W8 81, e oft Set
HIAR T | 71Rd &1 3HT B g, Tl gHId HRa Y A 59 3y &1 U\ 9 ghme

Sub questions

Question Number : 1 Question Id : 92090613368 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dE S H-91 A & ol Hgurd R gia Udhdl R g oIl 82

(1) fIme g (2) W-IW
(3) HFG-UH (4) @ e
Options :

92090652801. 1
92090652802. 2
92090652803. 3
92090652804. 4

Question Number : 2 Question Id : 92090613369 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



919 1 Fu U U € UF SHTHBYA (Assertion A) & ¥ # fifad @ Ot g1 39D BRUI
(Reason R}%F‘I ff;

HYFYT A - SOl fay & UF ¢d 7FE 0H 61 UYH S 8| TR & SER)
PRUIR : Og "4 gad @ Widifa® gl gl
JSWRIF HYF & 3l |, 1 S0 710 fdwedl § 9 ¥l I &1 994 $ifou

(1) ASIRRGH U™ € SRR, A DI Hol ARAT &

(2) AJRRGH THE, AFTR A D U BT el &
(3) AUIE AMBAR AT

4) AHAE AlPTRITE

Options :

92090652805. 1
92090652806. 2
92090652807. 3
92090652808. 4

Question Number : 3 Question Id : 92090613370 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

b e A ATy 8-

(1) et (2) S
(3) dHHg (4) ®:%g
Options :

92090652809. 1
92090652810. 2
92090652811. 3
92090652812. 4

Question Number : 4 Question Id : 92090613371 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘e Uea PI A -
(1) WIeifdd (2) URSTHS
(3) diipd (4) SEAH

Options :



92090652813. 1
92090652814. 2
92090652815. 3
92090652816. 4

Question Number : 5 Question Id : 92090613372 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR I 1 Iugad e g -

(1) <A (2) SNUH B HEd
(3) HRIRIIW (4) WA HEH
Options :

92090652817. 1
92090652818. 2
92090652819. 3
92090652820. 4

Question Id : 92090613367 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

i feu U =i &1 eHYde Ugdr uHl & I -

dRad § SU-UH o 98 TEA © o yH, S1f), 59 & HeHd B g IR Uhdl & IR YA §
Faa! fokl a1 81 |G &1 B0l HId B g B o U9 g f9eme wged), @A,
eHHfA Ud ISRd1 T UIS UGl g1 3k 0 UF o fay 7 U1 Ud Haid &1y SuHE g
gg U4 g3d &1 WiHifa® git 81 fayad 3@ &1 Fard 81 a1 yaarft 3961 Wew o o4 4
qgud d% &P, HRdl U9 Hig-sdl 9 &1 HA1 gl &; T il argyf@ & 3@ oW
3clifdbe grar g |

o= SHRT &2 HURA dl fay & GHwd <30 # Gerad 8| IR ¥ IR e 7iRa favre dey @1
geityyd waTe fewrera forgest Hoe g, Yo afémn # fana R o wid =Rl &1 uERr
TE1 1, O] W NShqd JHY-THG R SOl URH TG T4 &I qerdt 8, ord Aiarer |
IS A4 B Iadl Bfd T ydld gl 8 7 UPfa Hareisd el Wrdl ugaee o
Ut F1 ufdzar yRu S MRS W iy fRrg &t areEr S o W8 81, Sa oft et
HIIR A T 7RG &1 3fJHd B &, Ol gt YRd YT 9 59 S(uF &1 39 = gem?

Sub questions

Question Number : 1 Question Id : 92090613368 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

a8 HH-91 T9AA & forad "eyTd g gl Udhdl R gl oifd 82

(1)  faend ggegar ) <U-IW
(3) HHE-UH (4) & n
Options :

92090652801. 1
92090652802. 2
92090652803. 3
92090652804. 4

Question Number : 2 Question Id : 92090613369 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 31 YA AU U § U HUSYA (Assertion A) F ®U ¥ ffEd g O g IS HRUI
(Reason R;%Fcr ﬁ;

AMYBYT A : U UE ol fay ¥ U9 Ud WG UF &1 Uy |9 § | (TR & 3FAER)
FRUR : Ug HI-d gad &1 WIHifas® gil gl
JURIF HYA & 3clid |, i S0 710 [dbedl & 9 "l 3 &1 994 $ifelw

(1) ASRRIA T E SRR A D Tel AT &

(2) AJRRIATAE, AFTR A B Ul ARAT el &
(3) ATIE AR AR

@) ASEAE APTRITR

Options :

92090652805. 1
92090652806. 2
92090652807. 3
92090652808. 4

Question Number : 3 Question Id : 92090613370 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Nghq' sc A AT 8-

(1) gl (2) 9
(3) dF®g (4) B:Hg
Options :

92090652809. 1
92090652810. 2
92090652811. 3
92090652812. 4

Question Number : 4 Question Id : 92090613371 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3l s P fdeld -

(1) Wl (2) URcidE
(3) e (4) 3ZEdA®
Options :

92090652813. 1
92090652814. 2
92090652815. 3
92090652816. 4

Question Number : 5 Question Id : 92090613372 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRl T 1 ug e i g -

(1) WA (2) SN UH B HEd
(3) HRAITW (4) TRISY HEH
Options :

92090652817. 1
92090652818. 2
92090652819. 3
92090652820. 4

Sub-Section Number : 2
Sub-Section Id : 920906435
Question Shuffling Allowed : Yes

Is Section Default? : null



Question Number : 6 Question Id : 92090613373 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt weg # o9 ¥4 @ U uerd a1 sufda &1 |1y 81T &-
A T

B. UdhddH
C. ddd

D. dgdad
S
414 fu U ol # 9 ¥ad Iugdd IR &1 999 SIS

(1) dd A B
(2) dd B
(3) @ad C, D
(4) &dd D

Options :

92090652821. 1
92090652822. 2
92090652823. 3
92090652824. 4

Question Number : 6 Question Id : 92090613373 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



famrt wreg 7 forg wu ¥ us yard a1 safdd &1 iy giaT &-
A &g

B. UdhddH
C. ddd

D. ®gddd
E. &l
1 fau 1 faeedl # 9 9e8 IUge IR BT 90 Difor

(1) &dd A B
(2) dd B
(3) @dd C, D
(4) &dd D

Options :

92090652821. 1
92090652822. 2
92090652823. 3
92090652824. 4

Question Number : 7 Question Id : 92090613374 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & 91y g 1| & A S

- -l
(a) Tewreg | i Faerdt 81 () HuaH
(B) M F fore Hrar a7 5| () SAHBUERS
(€ TSHUHIAMIEEI () 3UEH
(D) ©dIER-GR YA @I ¢ (IV) HUBRS

2 fau 7u fasedi # 9 9 IR &1 994 Difr;

(1 (A=), (B)-(, (O)-(IV), (D)-(II)
(2) (A0, (B)-(I), (C)-(l), (D)-(IV)
(3) (A=), (B)-(IV), (O)-(li), (D)-(1)
(4)  (A)-(V), (B)-(11), (©)-(1), (D)-(1)



Options :

92090652825. 1
92090652826. 2
92090652827. 3
92090652828. 4

Question Number : 7 Question Id : 92090613374 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It | & Iy gt 1 1 e S

- -l

(A) fewTea @ i FAeed g1 () HUEH
(8) IM & fou W aa M| () SAFHUHERS
(€) TSHIUH AW IEI 6 () SareH
(D) WdIgR-gR 9 &1 71 (IV) SUHRE
19 fau U fasedl 7 § gl IR F1 994 SIS

(1) (A=), (B)-(I), (C)-(IV), (D)-()

(2) (A1), (B)-(l), (C)-(In), (D)-(1V)

(3)  (A)-(I), (B)-(IV), (C)-(1), (D)-(1)

(4)  (A)-(IV), (B)-(11), (C)-(1), (D)-(111)
Options :

92090652825. 1
92090652826. 2
92090652827. 3
92090652828. 4

Question Number : 8 Question Id : 92090613375 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



C. oad

D. farst

E. SagHl

1< 13 1T faeel # 9 Hel IR &1 997 Bifee :
(1) dd AE

(2) dd B

(3) @dd C
(4) &dd D, E

Options :

92090652829. 1
92090652830. 2
92090652831. 3
92090652832. 4

Question Number : 8 Question Id : 92090613375 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



C. oad

D. fHursT

E. SagHl

1< 13 1T faeel # 9 Hel IR &1 997 Bifee :
(1) dd AE

(2) dd B

(3) @dd C
(4) &dd D, E

Options :

92090652829. 1
92090652830. 2
92090652831. 3
92090652832. 4

Question Number : 9 Question Id : 92090613376 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ddifad &1 IUgd IR 94 Bl

ST ot i, 7T 1 AT

(1) IS TG (2) Udl & 3 R AT @A

(3)  HHI @A, A8l dl yEn (4) olt /¢t A B Toban, I A Ag] @l
Options :

92090652833. 1
92090652834. 2
92090652835. 3
92090652836. 4

Question Number : 9 Question Id : 92090613376 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ddifad &1 IUgd IR 94 Bl

ST ot i, 7T 1 AT

(1) S TG (2) Udl & 3 R AT @A

(3)  HHI @A, A8l dl yEn (4) olt /¢t A B Toban, I A Ag] @l
Options :

92090652833. 1
92090652834. 2
92090652835. 3
92090652836. 4

Question Number : 10 Question Id : 92090613377 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
aTe H W@ifehd Y Ueg & R W Y sk I
39 GBI f TTRAT SR 1R ¥ SEHR 181 faoaT i g

(1) 3R 2) TR
(3) FABR (4) TAPR
Options :

92090652837. 1
92090652838. 2
92090652839. 3
92090652840. 4

Question Number : 10 Question Id : 92090613377 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
aTe H W@ifehd Y Ueg & R W Y sk I
39 GBI f TTRAT SR 1R ¥ SEHR 181 faoaT i g

(1) 3R 2) TR
(3) FABR (4) TAPR
Options :

92090652837. 1
92090652838. 2
92090652839. 3



92090652840. 4

Question Number : 11 Question Id : 92090613378 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

7 cm BT % T TR 1 T AR - {,T: %Ej

7
(1) 4158 cm? (2) 540 cm?
(3) B16cm? (4) 280 cm?
Options :

92090652841. 1
92090652842. 2
92090652843. 3
92090652844. 4

Question Number : 11 Question Id : 92090613378 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

7 cm 1 3 U@ 1710 T Ui A - {,T: %Ej

7
(1) 4158 cm? (2) 540 cm?
(3) 616 cm? (4) 280 cm?
Options :

92090652841. 1
92090652842. 2
92090652843. 3
92090652844. 4

Question Number : 12 Question Id : 92090613379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FaH > FTAA FE B

784 +14 +598 +13 +? =99% of 2500

(1) 2475 (2} 2373
(3) 2565 (4) 2285
Options :

92090652845. 1
92090652846. 2
92090652847. 3
92090652848. 4

Question Number : 12 Question Id : 92090613379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
{9 7 2 T {9 ;T B

784 +14 +598 +13 +? =99% of 2500

(1) 2475 (2) 2373
(3) 2565 (4) 2285
Options :

92090652845. 1
92090652846. 2
92090652847. 3
92090652848. 4

Question Number : 13 Question Id : 92090613380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

digri & fei # @l 9a § us g 9 Gt a¥gsii R 10% @ &1 9o 3t sifdéd g
% 1450 B Ud Sidbe qyl 3ifdhd T 3850 UAD DI &1 Bl W TR UH Ugd B fbat
R ger1 gfe

(1 %2735 (2) 32835
(3) 33150 (4) %2935
Options :

92090652849. 1
92090652850. 2
92090652851. 3
92090652852. 4



Question Number : 13 Question Id : 92090613380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

digril & &1 7 &l 9a # Us g A Gt a¥gsfi R 10% §e &1 9o 3t sifdd g
% 1450 B Ud Sibe qyl 3ifdbd e 7850 YD DI 1 Bl Wa- W Uh Agd B fbant
A I grit?

(M 2735 (2) 32835
(3) 33150 (4) %2935
Options :

92090652849. 1
92090652850. 2
92090652851. 3
92090652852. 4

Question Number : 14 Question Id : 92090613381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ud ®R 12 e § 20 km T St g1 TfE 39T 7T BT 20 km/h T2T S S A1 I8 G116
a4 & H faod=1 w1y @imm?

i 1
(1 E'EI'EI (2) 3 Hdl
7 LA i ..
3 — Hcl 4) —Hcl
(3) 3 (4) 2
Options :

92090652853. 1
92090652854. 2
92090652855. 3
92090652856. 4

Question Number : 14 Question Id : 92090613381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U ®R 12 [ # 20 km 79 S0 €1 fe S8BT 711 BT 20 keny/h 2T & WU 1 I g8 &1
ad &34 | fbd=1 gHg @

I 1 .
1 [ 2) =
M 3 (2) EETEI

7 ;
3 — YdI 4) — NI
(3) 3 (4) 2
Options :

92090652853. 1
92090652854. 2
92090652855. 3
92090652856. 4

Question Number : 15 Question Id : 92090613382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

$© M FYRON 4TS R 3 a8 H 214,880 U1 5 T4 T 716,800 Bl SIcH & | T @1 & Fd
C2l

(m 6.5% (2) 7%
(3) 8% (4) 8.25%
Options :

92090652857. 1
92090652858. 2
92090652859. 3
92090652860. 4

Question Number : 15 Question Id : 92090613382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

$© M FYRON 4TS R 3 a8 H 214,880 U1 5 T4 T 716,800 Bl SIcH & | T @1 & Fd
C2l

(m 6.5% (2) 7%
(3) 8% (4) 8.25%
Options :

92090652857. 1
92090652858. 2



92090652859. 3
92090652860. 4

Question Number : 16 Question Id : 92090613383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AS®! B HaAR H Yaq A F Ugedi g1 o I9& 3 8, I9& Wi i 71 81 Y& iR
FaR & HH BR Y TIdd 5 & AW fha-l d8& &7

(1 33 (2) 34
(3) 35 (4) 36
Options :

92090652861. 1
92090652862. 2
92090652863. 3
92090652864. 4

Question Number : 16 Question Id : 92090613383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TSP B! HaAR H Yd- 3AF J Uggdi g1 g 39 3 €, I9P e i 74 €1 Yad 3R
FHdR $ H~H BR ¥ 91ad dsd & A a1 a5& 87

(1 33 (2) 34
(3) 35 (4) 36
Options :

92090652861. 1
92090652862. 2
92090652863. 3
92090652864. 4

Question Number : 17 Question Id : 92090613384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



®YT: U YRA9Y § $Had U [qyfderey g angu

dd |- 39y f[aenfidl grr ure @ s Uit Al 34 &g 9ed gl
I:  Nefirs AFST H UhEUd aF & e 38! UhHE IRl B

SR H W $H HI@) b HYF ST AL HIA1 8?2

(1) Paddsd |

(2) Fadas

(3) TPISRTD I

4) AgidabIRAE T Il
Options :

92090652865. 1
92090652866. 2
92090652867. 3
92090652868. 4

Question Number : 17 Question Id : 92090613384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
®ud:  ggof YRaay § Fad U [ayfaened g afgu
db | 399 faefdal gry v @ g Uil il ¢ gq "ewd gl
Il:  N&fOrs AFST H UhHETdl aF & T 38! ThHE IR B
SURIE H A B HI(@) a0 HU BT YA HIA1 82

(1) FHaadd|

(2) Fadd®

(3) dPISRTAD Il

4) A ddIRA TS Il
Options :

92090652865. 1
92090652866. 2
92090652867. 3
92090652868. 4

Question Number : 18 Question Id : 92090613385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

ot U1 |1 B

AN
NE/N\2/4e\7/
/NN 5N\

W

-

(1 13 ) 14
(3) 20 4) 21
Options :

92090652869. 1
92090652870. 2
92090652871. 3
92090652872. 4

Question Number : 18 Question Id : 92090613385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o HEAT [ Y

/N
AN
N/

R

m 13 ) 14
(3) 20 4) 21
Options :

92090652869. 1
92090652870. 2
92090652871. 3
92090652872. 4

Question Number : 19 Question Id : 92090613386 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

1= &t snepfa 7 Brpior o1 e J1d

(M 48 (2) 42

(3) 44 (4) 38
Options :

92090652873. 1
92090652874. 2
92090652875. 3
92090652876. 4

Question Number : 19 Question Id : 92090613386 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e <t snepfa A BPepion 1 Hem I1d

(1) 48 (2) 42

(3) 44 (4) 38
Options :

92090652873. 1
92090652874. 2
92090652875. 3
92090652876. 4

Question Number : 20 Question Id : 92090613387 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

12 & aapfa (x) W Sd-Bid 1 ugaH &Y

(4)

3 (X)

ee

Options :

92090652877. 1
92090652878. 2
92090652879. 3
92090652880. 4

Question Number : 20 Question Id : 92090613387 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I &t i (x) H Sd-Bid & ugaH H

(4)

3G (X)

ee

Options :
92090652877. 1



92090652878. 2
92090652879. 3
92090652880. 4

Question Number : 21 Question Id : 92090613388 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRAaY &1 UYH S0 & AFd A1 &1 o o 96dl

(1) &0 (2) o
(3) =g (4) IS4 @er
Options :

92090652881. 1
92090652882. 2
92090652883. 3
92090652884. 4

Question Number : 21 Question Id : 92090613388 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRAAY $1 UYH S0 S\l AFd 1] &1 & o Ybdl 8

(1) d&10 (2) ®©d
(3) TF3S (4) TS @
Options :

92090652881. 1
92090652882. 2
92090652883. 3
92090652884. 4

Question Number : 22 Question Id : 92090613389 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YR Sy & & srgede & sraria I smuer diftd &1 St 87

(1) 3f3dq 342 (2) S5 350
(3) ST 362 (4) 3FTdE 352
Options :

92090652885. 1
92090652886. 2
92090652887. 3
92090652888. 4

Question Number : 22 Question Id : 92090613389 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YR Ay & 9 3rf=a & srarid APRT 3y aiftd 1 &l 82

(1)  Sffwdq 342 (2) 3ff%da 350
(3) ST 362 (4) TG 352
Options :

92090652885. 1
92090652886. 2
92090652887. 3
92090652888. 4

Question Number : 23 Question Id : 92090613390 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hia & By Ry MU
S| U FiRa T 7 5 3 &1 S AT S B AES IHS! AT FH B

FUA ;i voneh # a¥geii iR Jarsit F1 yaTe AP oy H1 AFES € UE U FufRa
rarafd 7 e yorrel 1 Iaure wfE 2|

IR HYA & 3fdld |, Hid S0 770 [decdl § 9 9at Iaia! 994 Sivie

(1) ST R 1S e
(2) HYF | SR 11 SHI TTAd 8
(3) Y| TEl 8, Alhd HYA 11 TTAd &
(4) Y1 TEd g, dfed B || el 8
Options :
92090652889. 1
92090652890, 2

92090652891. 3
92090652892. 4

Question Number : 23 Question Id : 92090613390 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i3 2 By fRg MU §;
S| U FiRd a9 7 6 39 &1 S AT S B AES IHS! AT R B

FYA I e yone F awgsit ofR Jarslt &1 wate APt oMy B AHES § U8 v FufRa
ey 7 snfdfes yorrelt & Iare wfE g

IR HYF & 3fdld |, 1 S0 770 [decdl #§ 9 98t I 994 Sivie

(1) Y1 3R D S B
(2)  HYF | SR 11 HI TTAd @
(3) HYFIHEI 8, Al HYT I TTad &
(4) HYFI7Ad g, dfed B || Hel §
Options :
92090652889. 1
92090652890, 2

92090652891. 3
92090652892. 4



Question Number : 24 Question Id : 92090613391 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{9 7 @ 19 Pedla Ferd # 700 el 19 9ren Uy Bedrd REarg! 3R s=Rigy oo @R
g1

(1)  forHe A (2) TorRRea N Trest
(3) U (4) Y&d daistsuis
Options :

92090652893. 1
92090652894. 2
92090652895. 3
92090652896. 4

Question Number : 24 Question Id : 92090613391 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{9 7 @ 19 Pedla Ferd # 700 el 19 9ren Uy Bedrd REarg! 3R s=Rigy oo @R
g1

(1)  forHe A (2) TorRRea N Trest
(3) U (4) Y&d daistsuis
Options :

92090652893. 1
92090652894. 2
92090652895. 3
92090652896. 4

Question Number : 25 Question Id : 92090613392 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hadl g1 e A 4 i A famrd gt 82

A. Bl
B. HaldI

C. TRWES
D. ufgw

E. S
19 fau v faeedi § ¥ 9el IR &1 994 Difort

(1) &dd A B3RD
(2) ®ad A B3RE
(3) Fdd A C3RD
(4) PadA DSIRE

Options :

92090652897. 1
92090652898. 2
92090652899. 3
92090652900. 4

Question Number : 25 Question Id : 92090613392 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Aol gr1 A9 | 9 3 4t fawrd gidl 82
A Bl
B. HalAl

C. TRWES
D. ufgw

E. S
19 fau v faeedi § ¥ 9el IR &1 994 Difort

(1) &4dd A B3RD
(2) &dd A, BS3IRE
(3) dd A, C3RD
(4) ®HAAA D ARE
Options :
92090652897. 1
92090652898, 2

92090652899. 3
92090652900. 4

Part B: Fine Arts

Section Id : 920906266
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906436
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090613393 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Where was the Indian female artist Amrita Sher-Gil born?
1.  Melbourne, Australia
2.  Budapest, Hungary
3. Moscow, Russia

4. New York, America

Options :

92090652901. 1
92090652902. 2
92090652903. 3
92090652904. 4

Question Number : 26 Question Id : 92090613393 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT Afge SRR a1 AT 1 T Ha 9 g 917

(1) ToEH, efe (2) dEr=, TR
(3) e, &4 (4) =q=ETH, HELH
Options :

92090652901. 1
92090652902. 2
92090652903. 3
92090652904. 4

Question Number : 27 Question Id : 92090613394 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which Cave is known as “Indra Sabha’ in Ellora™?
1. Cave No.—13
2. Cave No.—14
3. Cave No.—32

4. Cave No.—33

Options :
92090652905. 1



92090652906. 2
92090652907. 3
92090652908. 4

Question Number : 27 Question Id : 92090613394 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TART B fFE TH H T T S AW F TE A6 E?

(1) 7% &4 13 (2) TH HEAT 14
(3)  TH TEET 32 (4) TTH @A 33
Options :

92090652905. 1
92090652906. 2
92090652907. 3
92090652908. 4

Question Number : 28 Question Id : 92090613395 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Painter ‘Manaku’ is associated with which style of painting?
1.  Basohli
2. Kangra
3. Kishangarh

4. Guler

Options :

92090652909. 1
92090652910. 2
92090652911. 3
92090652912. 4

Question Number : 28 Question Id : 92090613395 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T Tamr, faasan & fmm deft & wefug 27

(1) =g (2) wimEl
(3) TR (4) TER
Options :

92090652909. 1
92090652910. 2
92090652911. 3
92090652912. 4

Question Number : 29 Question Id : 92090613396 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During which of the following dynasties was the “Kamakhya Devi" Temple located
in Guwahati, Assam established?

1.  Chola Dynasty

2. Gandhara Dynasty
3.  Salastambha Dynasty

4.  Pala Dynasty

Options :

92090652913. 1
92090652914. 2
92090652915. 3
92090652916. 4

Question Number : 29 Question Id : 92090613396 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AR, 399 § fiya wmren ¢l aiet i T fhe 9w & weeee ° g o

(1) =iaaw (2) YR F9
(3) Ty 997 (4) 9= F9
Options :

92090652913. 1
92090652914. 2
92090652915. 3



92090652916. 4

Question Number : 30 Question Id : 92090613397 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Badami, Aihole, Pattadakal and Mahakuteshwara are the art centers of which of
the following kingdoms?

1. Pallava kingdom
2.  Gupta kindgom
3. Chalukya kingdom

4.  Maurya kingdom

Options :

92090652917. 1
92090652918. 2
92090652919. 3
92090652920. 4

Question Number : 30 Question Id : 92090613397 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT, VU, TZEeThe 91 Herdaven i 4 8 fFm o= & F19 6 e F g 87

(1) Uoord &1 (2) TH FH
(3 TTefed el (4) HHE F=
Options :

92090652917. 1
92090652918. 2
92090652919. 3
92090652920. 4

Question Number : 31 Question Id : 92090613398 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following isms is associated with “Boccioni™?
1.  Impressionism
2. Futurism
3. Fauvism

4. Post-Impressionism

Options :

92090652921. 1
92090652922. 2
92090652923. 3
92090652924. 4

Question Number : 31 Question Id : 92090613398 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafiaa 4 4 %= &1 9’ TifFE @ gafaq 27

(1) 99=aER (2) wreEeE
(3) ita=H (4) IF-U¥TEERE
Options :

92090652921. 1
92090652922. 2
92090652923. 3
92090652924. 4

Question Number : 32 Question Id : 92090613399 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“The Card Cheaters” is a painting done by
1. Peter Paul Rubens
2. Caravaggio
3. Bernini

4. Pietro da Cortona

Options :

92090652925. 1
92090652926. 2
92090652927. 3



92090652928. 4

Question Number : 32 Question Id : 92090613399 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘T HIE dieE TS FoF e g aE T 87

(1) e 9id sa4 (2) FHRErTE
(3) = (4) gl g HEE
Options :

92090652925. 1
92090652926. 2
92090652927. 3
92090652928. 4

Question Number : 33 Question Id : 92090613400 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The painting “Les Demosselles d'Avignon” was created by

1. Picasso

2. Braque

3.  Matisse

4.  Kandinsky
Options :

92090652929. 1
92090652930. 2
92090652931. 3
92090652932. 4

Question Number : 33 Question Id : 92090613400 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o 2Haeg g vfame fag femes g =amd i ofty

(1) oo (2) #i+
(3) #fm (4) Ffzmh
Options :

92090652929. 1
92090652930. 2
92090652931. 3
92090652932. 4

Question Number : 34 Question Id : 92090613401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the art movement associated with “The Blue Rider" group.
1. German Expressionism
2. Realism
3. Dadaism

4. Romanticism

Options :

92090652933. 1
92090652934. 2
92090652935. 3
92090652936. 4

Question Number : 34 Question Id : 92090613401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“g & TZSC G H GElud shell AGeH HiH a1 87

(1) T sAfresTare (2) Tendare
(3) <TEER (4) FfersHarE/THEER
Options :

92090652933. 1
92090652934. 2
92090652935. 3
92090652936. 4



Question Number : 35 Question Id : 92090613402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Surya Temple” of Modhera is located in which State?
1. Madhya Pradesh
2. Chhattisgarh
3. Uttar Pradesh

4.  Gujarat

Options :

92090652937. 1
92090652938. 2
92090652939. 3
92090652940. 4

Question Number : 35 Question Id : 92090613402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Higu g3 Alet FRE U= H 27

(1) 5= 9ew (2) e
(3) IWuew (4) =
Options :

92090652937. 1
92090652938. 2
92090652939. 3
92090652940. 4

Question Number : 36 Question Id : 92090613403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which artist developed a new style of painting influenced by Kalighat style of
paintings?

1.  Devi Prasad Roy Chowdhury
2.  Samarendra Nath Gupta
3. Naghatta

4. Jamini Roy
Options :
92090652941. 1
92090652942. 2
92090652943. 3
92090652944. 4

Question Number : 36 Question Id : 92090613403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tr=fafaa @ § T faawn 3 Femar e 360 9 gafaa g e $t o 38 At
fafaa 7

(1) e wwmg T =itygd (2) HEZ 77 T
(3) =g (4) =feT O
Options :

92090652941. 1
92090652942. 2
92090652943. 3
92090652944. 4

Question Number : 37 Question Id : 92090613404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is the total number of Bagh Caves?

1. 12 caves

2 0 caves
3. Bcaves
4. 7 caves

Options :



92090652945. 1
92090652946. 2
92090652947. 3
92090652948. 4

Question Number : 37 Question Id : 92090613404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T EIAT 1 Fel e fha 27

(1) 12 7%n (2) 09 e
(3) 08w (4) 07 &
Options :

92090652945. 1
92090652946. 2
92090652947. 3
92090652948. 4

Question Number : 38 Question Id : 92090613405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Under whose reign did the Humzanama got completed?
1.  Humayun
2. Akbar
3. Jahangir

4. Shah Jahan

Options :

92090652949. 1
92090652950. 2
92090652951. 3
92090652952. 4

Question Number : 38 Question Id : 92090613405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



s feraes wmeeeRre o arogferfy quf g8

(1) gad (2) IRt
(3) @R (4) mEEl
Options :

92090652949. 1
92090652950. 2
92090652951. 3
92090652952. 4

Question Number : 39 Question Id : 92090613406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Out of the following which is not the famous place for Romanesque Art?

1. France

2. England

3. Spain

4. Poland
Options :

92090652953. 1
92090652954. 2
92090652955. 3
92090652956. 4

Question Number : 39 Question Id : 92090613406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frferfiga § 9 #9 o1 = 9k %ol & oo gfag 981 &7

() =i (2) 3wl
(3) ¥F (4) dreis
Options :

92090652953. 1
92090652954. 2
92090652955. 3
92090652956. 4



Question Number : 40 Question Id : 92090613407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Among the following who was the teacher of Leonardo da Vinci?
1.  Verrocchio
2. Giotto
3. Chimabue

4.  Michlangelo

Options :

92090652957. 1
92090652958. 2
92090652959. 3
92090652960. 4

Question Number : 40 Question Id : 92090613407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fr=fafaa o 9 foammE o f9fa =1 faes =9 917

(1) <= (2) faam
(3) Tomd (4) HEFHA TAAT
Options :

92090652957. 1
92090652958. 2
92090652959. 3
92090652960. 4

Question Number : 41 Question Id : 92090613408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The painting “The Death of Marat” was created by

1. Ingres

2. Jean Gros

3. Louis David
4.  Louis Girodet

Options :

92090652961. 1
92090652962. 2
92090652963. 3
92090652964. 4

Question Number : 41 Question Id : 92090613408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘T Y I AW A fay feae w s ofi v

(1) %4 (2) =T Ti™
(3) vIEd sfaE (4) o9 faEe
Options :

92090652961. 1
92090652962. 2
92090652963. 3
92090652964. 4

Question Number : 42 Question Id : 92090613409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Joseph Turner was a

1.  British printmaker

2. ltalian sculptor

3.  British landscape painter

4.  German portrait painter
Options :

92090652965. 1
92090652966. 2



92090652967. 3
92090652968. 4

Question Number : 42 Question Id : 92090613409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 2 T o1

(1) fawea =1 v wofas e (2) gzl &1 U freTEmn

(3) e =1 v v w9 aren feEwn (1) A dige "9 e feEewn
Options :

92090652965. 1
92090652966. 2
92090652967. 3
92090652968. 4

Question Number : 43 Question Id : 92090613410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pointillism belongs to which ism?
1.  Neo-Impressionism
2. Expressionism
3. Impressionism

4. Cubism

Options :

92090652969. 1
92090652970. 2
92090652971. 3
92090652972. 4

Question Number : 43 Question Id : 92090613410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fag-fazwr form “are’ & wafum €7

(1) =9 99=aTE (2) Feas-aE
(3) Y9EdR (4) Had1q
Options :

92090652969. 1
92090652970. 2
92090652971. 3
92090652972. 4

Question Number : 44 Question Id : 92090613411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“A Sunday Afternoon on the island of La Grande Jatte" painting is made by which
of the following artist?

1. Georges Seurat

2. Paul Cezanne

3. Picasso

4. Pissarro
Options :

92090652973. 1
92090652974. 2
92090652975. 3
92090652976. 4

Question Number : 44 Question Id : 92090613411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e Faapr A U 92 3TRT 3 o Ure S e oA wH e 8

(1) e §@We (2) die |
(3) TRl (4) fomm
Options :

92090652973. 1
92090652974. 2
92090652975. 3



92090652976. 4

Question Number : 45 Question Id : 92090613412 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Out of the following which is not binder of tempera?
1. Gum Arabic
2. Giletine
3. Eggyolk

4.  Turpentine oil
Options :
92090652977. 1
92090652978. 2
92090652979. 3
92090652980. 4

Question Number : 45 Question Id : 92090613412 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ffefiaa § 9 991 ¢ o1 99SEl T8 B 7

(1) T 3l (2) et

(3) 32 i 7 (4) TREH = oA
Options :

92090652977. 1
92090652978. 2
92090652979. 3
92090652980. 4

Question Number : 46 Question Id : 92090613413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who was the founder artist of Neo-Impressionism?

1. Georges Seurat

2.  Monet

3. Matisse

4. Gauguin
Options :

92090652981. 1
92090652982. 2
92090652983. 3
92090652984. 4

Question Number : 46 Question Id : 92090613413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TI-THEETE T T HATHR D 77

(1) ¥ ge (2) wH
(3) #f= (4) T
Options :

92090652981. 1
92090652982. 2
92090652983. 3
92090652984. 4

Question Number : 47 Question Id : 92090613414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Water Lilies” is the art work done by

1. Monet

2. Manet

3. Pissarro

4. Degas
Options :

92090652985. 1
92090652986. 2



92090652987. 3
92090652988. 4

Question Number : 47 Question Id : 92090613414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s, ¥

(1) =H (2) #H
(3) fomm (4) @m
Options :

92090652985. 1
92090652986. 2
92090652987. 3
92090652988. 4

Question Number : 48 Question Id : 92090613415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which city was the first paper mill established in India?
1. Madras (Chennai)
2. Bombay (Mumbai)
3. Goa

4. Calcutta (Kolkata)

Options :

92090652989. 1
92090652990. 2
92090652991. 3
92090652992. 4

Question Number : 48 Question Id : 92090613415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U = foh8 et °§ geuey s 6 e omd e

(1) =g (I=E) (2) @i ()
(3) T (4) et (SHieTehR)
Options :

92090652989. 1
92090652990. 2
92090652991. 3
92090652992. 4

Question Number : 49 Question Id : 92090613416 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Out of the following which is not from the secondary colour group?
1.  Orange colour
2.  Red colour
3. Green colour

4. Violet colour

Options :

92090652993. 1
92090652994. 2
92090652995. 3
92090652996. 4

Question Number : 49 Question Id : 92090613416 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ffefaa & & == @1 1 fgdes avl agg 4 78 27

(1) =t (2) ==
(3) = (4) ST
Options :

92090652993. 1
92090652994. 2
92090652995. 3
92090652996. 4



Question Number : 50 Question Id : 92090613417 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Artist Abdur Rahman Chugtai was famous for

1.  Wash painting

2.  Mural

3. Sculpture

4.  QOil painting
Options :

92090652997. 1
92090652998. 2
92090652999. 3
92090653000. 4

Question Number : 50 Question Id : 92090613417 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HagEnH Tar T Herwn frafe gfeg e

(1) afa faz=wen (2) v /fufa faem
(3) fireaemen (4) defrg o=
Options :

92090652997. 1
92090652998. 2
92090652999. 3
92090653000. 4

Question Number : 51 Question Id : 92090613418 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Catacombs are
1. Temple
2.  Underground tomb
3. Entrance gate
4. Cave

Options :

92090653001. 1
92090653002. 2
92090653003. 3
92090653004. 4

Question Number : 51 Question Id : 92090613418 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EELCELIRE

(1) =fe (2) 4fTa Teat
(3) W N (4) TH
Options :

92090653001. 1
92090653002. 2
92090653003. 3
92090653004. 4

Question Number : 52 Question Id : 92090613419 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The remains of Pompeii Murals has been preserved in which museum?
1.  The National Archaeological Museum of Naples
2. The Louvre Museum, France
3.  The British Museum, London

4.  The National Museum, New Delhi

Options :
92090653005. 1
92090653006. 2



92090653007. 3
92090653008. 4

Question Number : 52 Question Id : 92090613419 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

uiefl = & @9 frg duEed § gy W@ 27

(1) 9e8 1 TEHE qUdaias™ GUged  (2) W8 &1 od Suged

(3) e w1 fafew qumeE (4) % feoeht 1 Udm duEeE

Options :

92090653005. 1
92090653006. 2
92090653007. 3
92090653008. 4

Question Number : 53 Question Id : 92090613420 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Where are the Jogimara Caves situated?

1. Raigarh
2. Aadamgarh
3. Pahargarh

4.  Ramgarh
Options :
92090653009. 1
92090653010. 2
92090653011. 3
92090653012. 4

Question Number : 53 Question Id : 92090613420 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Srfiarr e Hel w e €7

(1) UITe (2) HeHTE
(3) dETETe (4) TG
Options :

92090653009. 1
92090653010. 2
92090653011. 3
92090653012. 4

Question Number : 54 Question Id : 92090613421 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which painter got fame by using Indian mythological subjects in western style in
his paintings?

1. Jamini Roy

2. Abanindranath Tagore

3. Raja Ravi Varma

4.  Asit Kumar Haldar
Options :

92090653013. 1
92090653014. 2
92090653015. 3
92090653016. 4

Question Number : 54 Question Id : 92090613421 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fr= g 4 fopm Tamsn =61 wrdie fagg =1 g 9ol § 39wk giafe faefi?

(1)  feT 0a (2) a2 3R
(3) T= W =i (4) wifa AR Bt
Options :

92090653013. 1
92090653014. 2
92090653015. 3



92090653016. 4

Question Number : 55 Question Id : 92090613422 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The remains found in the Indus Valley Civilization are mostly in which form?
1.  Utensils
2. Murals
3. Manuscripts

4. Sculptures

Options :

92090653017. 1
92090653018. 2
92090653019. 3
92090653020. 4

Question Number : 55 Question Id : 92090613422 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
oy o1dl mear & ey st form w9 F 9 gu &7

(1) =4 (2) (=) fufaf
(3) ngferfo (4) wfdai
Options :

92090653017. 1
92090653018. 2
92090653019. 3
92090653020. 4

Question Number : 56 Question Id : 92090613423 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Akbar awarded the title of “Sheri Kalam” to which painter?
1. Mir Sayyid Ali
2. Khwaja Abdus Samad Shirazi
3. Basawan
4. Daswant

Options :

92090653021. 1
92090653022. 2
92090653023. 3
92090653024. 4

Question Number : 56 Question Id : 92090613423 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wehet 4 9w’ faamw fem famewr =+ fear?

(1) i #=3g 35 (2) AT Hegaug fawrst
(3) =9a4 (4) eHad
Options :

92090653021. 1
92090653022. 2
92090653023. 3
92090653024. 4

Question Number : 57 Question Id : 92090613424 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who wrote the book, The Ideals of Indian Art?

1.  Asit Kumar Haldar

2. Abanindranath Tagore
3. E.B.Havell

4. Jamini Roy

Options :
92090653025. 1
92090653026. 2



92090653027. 3
92090653028. 4

Question Number : 57 Question Id : 92090613424 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) fa FAR geiet (2) FEAEAYT IR
(3) 3.4 gEw (4) T T
Options :

92090653025. 1
92090653026. 2
92090653027. 3
92090653028. 4

Question Number : 58 Question Id : 92090613425 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What type of sculptural style is mainly found in Rajgir Bihar, Jain Temples?

1. Palastyle

2. Nagara style

3. Dravida style
4. Gandhara style

Options :

92090653029. 1
92090653030. 2
92090653031. 3
92090653032. 4

Question Number : 58 Question Id : 92090613425 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T, faEr &% S Afet ¥ g =9 | foem yor it e e faedt 27

(1)  9ret Fieft (2) PR St
(3) @i Wl (4) TTER S
Options :

92090653029. 1
92090653030. 2
92090653031. 3
92090653032. 4

Question Number : 59 Question Id : 92090613426 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the name of main cave of Chalukya paintings.

1. Bagh Cave

2.  Mamunder cave

3. Badami Cave

4. Chaitya Cave
Options :

92090653033. 1
92090653034. 2
92090653035. 3
92090653036. 4

Question Number : 59 Question Id : 92090613426 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T FaasheTIaA 1 9gE TH i H B 7

(1) =& TH (2) Tt TR
(3) smeE T (4) = T
Options :

92090653033. 1
92090653034. 2
92090653035. 3
92090653036. 4



Question Number : 60 Question Id : 92090613427 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who wrote the book, Indian Artistic Anatomy?

1. Rabindranath Tagore

2. Nandalal Bose

3. Asit Kumar Halder

4.  Abanindranath Tagore
Options :

92090653037. 1
92090653038. 2
92090653039. 3
92090653040. 4

Question Number : 60 Question Id : 92090613427 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) Tz A1y &R (2) eete S
(3) =ifEa FUR Feet (4) SFEHTEAT SR
Options :

92090653037. 1
92090653038. 2
92090653039. 3
92090653040. 4

Question Number : 61 Question Id : 92090613428 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In which style was the Hoyasala Temple developed?

1.  Chola style

2. Palastyle

3. Gandhara style

4. Besar style
Options :

92090653041. 1
92090653042. 2
92090653043. 3
92090653044. 4

Question Number : 61 Question Id : 92090613428 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“ErEmen aiet fohe el § fowfaa b mw a7

(1) = ot (2) drer Helt
(3) YR e (4) wET Hedl
Options :

92090653041. 1
92090653042. 2
92090653043. 3
92090653044. 4

Question Number : 62 Question Id : 92090613429 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Kandariya Mahadev Temple is situated in
1. Bhubaneswar
2. Mahabalipuram
3.  Khajuraho

4.  Puri
Options :
92090653045. 1
92090653046. 2



92090653047. 3
92090653048. 4

Question Number : 62 Question Id : 92090613429 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“heTiET HETed Hict wE W e 77

(1) ya-vat (2) HEEEH
(3) @EaE (4) T
Options :

92090653045. 1
92090653046. 2
92090653047. 3
92090653048. 4

Question Number : 63 Question Id : 92090613430 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Raja Ravi Varma was influenced by which of the following styles?

1. Rajasthani style

2.  Pahari style

3. European style

4. Mughal style
Options :

92090653049. 1
92090653050. 2
92090653051. 3
92090653052. 4

Question Number : 63 Question Id : 92090613430 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 9 9wl = | | e dieft g sl gue

(1) Taeurt Sieft (2) wETEl St
(3) T e (4) T Hedt
Options :

92090653049. 1
92090653050. 2
92090653051. 3
92090653052. 4

Question Number : 64 Question Id : 92090613431 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which printing process is done by using stone?
1. Relief printing
2.  Letter press printing
3. Lithography

4. Silk screen

Options :

92090653053. 1
92090653054. 2
92090653055. 3
92090653056. 4

Question Number : 64 Question Id : 92090613431 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt | | = #t Sfe ulshar 1 qeer =1 3990 i f6a1 o dhar 27

(1) 39m fufén (2) & g ffe
(3) T (4) Taes =hF
Options :

92090653053. 1
92090653054. 2
92090653055. 3
92090653056. 4



Question Number : 65 Question Id : 92090613432 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Tie and Dye" is a technique of
1.  Textile printing
2. Qil painting
3.  Water colour

4. Tempera

Options :

92090653057. 1
92090653058. 2
92090653059. 3
92090653060. 4

Question Number : 65 Question Id : 92090613432 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
q99 = 0 9 frms 9 27

(1) 9= fufem (2) e faam
(3) wFaw@ (4) v
Options :

92090653057. 1
92090653058. 2
92090653059. 3
92090653060. 4

Question Number : 66 Question Id : 92090613433 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Nandalal Bose is acknowledged as a major painter of the
Bengal School.

Reason(R) : Becausein 1910, he visited Europe to see museums.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation
of (A)

3. (A)is correct but (R) is not correct
4. (A)is not correct but (R) is correct

Options :

92090653061. 1
92090653062. 2
92090653063. 3
92090653064. 4

Question Number : 66 Question Id : 92090613433 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 g #yF feu MU E : v 3fUFUE (Assertion A) % ®9 ° faflgd 2 91 go0 396 FA0
(Reason R) % 9 ¥ :

Ao (A) :  FEATA | HI WA Thed 1 Uk TE T g7 S 2 |
=7 (R) - it a9 1910 ¥ 98 HUEdl & @+ & ol 9 yqu =+ foqe |

ITE HH & A |, A fou o famedi § 9 g9 I9ga I H 9941 DIt

(1)  (A) 3 (R) gFT 5él & 3 (R), (A) 1 9é ==men & |
(2)  (A) 3 (R) gHT wet &, @R (R), (A) =i wét =men 78 £ |
(3) (A) @l g, ©ifeha (R) W& 781 2 |

(4)  (A) =€ 7% &, i (R) ¥&1 2|
Options :
92090653061. 1
92090653062. 2



92090653063. 3
92090653064. 4

Question Number : 67 Question Id : 92090613434 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Acrylic colours are used as opaque as well as for transparent
effects in painting.

Reason (R) : Acrylic colours can be diluted with water and it dries fast.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation
of (A)

3. (A)istrue but (R) is false

4.  (A)is false but (R) is true

Options :

92090653065. 1
92090653066. 2
92090653067. 3
92090653068. 4

Question Number : 67 Question Id : 92090613434 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i gt ey feu o # ;v wfieYd (Assertion A) % w9 ° foiftgg 2 1 go0 35 &1w
(Reason R) & =9 7 :

FPe (A) ;. Uehfdds T 1 390 931 § F9nesf a9 unes v o7 & fou fean
EiGI S

F0 (R) : Ushictsh TN o1 I G hishT fohan = ok & a2 3 ofiy &f 5@ = 21
ITE HYA & @k §, T o 7o famedi § 9 ga9 3ugF 3T &1 954 Hifa0 -

() (A) 3R (R) gF1 @& & 3 (R), (A) #i we = 2 |

(2) (A) 31 (R) gH1 98 &, T (R), (A) =i T& =2 & ¢ |
(3) (A) @@ &, @l (R) 9 781 & |

(4)  (A) =l @ 2, =il (R) @ 2

Options :

92090653065. 1
92090653066. 2
92090653067. 3
92090653068. 4

Question Number : 68 Question Id : 92090613435 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : The invention of paper spread from China to Korea and later
Japan in about 610 AD in Asia.

Reason (R) : Because atfirstthe vegetable fibres were beaten by hand with
hammer and sticks.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation
of (A)

3. (A)istrue but (R) is false
4. (A)is false but (R) is true

Options :
92090653069. 1



92090653070. 2
92090653071. 3
92090653072. 4

Question Number : 68 Question Id : 92090613435 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H= gt wy fqu mu 2 - v sfiEes (Assertion A) % ®9 ¥ fofaa 2 @1 oo 3o =mmn
(Reason R) &% ®9 1 :

R (A) . ofSmn § @ 610 A.D. ¥ ST il @9 o1 S 991 @€ § 9H
o et |

wr (R) : i TEet dui & WW GIt w1 eSi 9w enfsE gm w8 Ee
A o |
ITF FYA F A H, 5= e o faweat 4 @ 98 3 o =me Sifau .
(1) (A) 3 (R) gH1 o9 & 3 (R), (A) &t 98 =men 2|
(2)  (A) 3 (R) 41 51 &, af (R), (A) Fit =8 == 78 2
(3) (A) T 2, @A (R) 39 21
(4)  (A) 31gg B, «ifk (R) 9= 21
Options :
92090653069. 1
92090653070. 2

92090653071. 3
92090653072. 4

Question Number : 69 Question Id : 92090613436 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : For oil painting, hog hair brushes are used and canvas is the
most suitable surface.

Reason (R) : For oil painting, the canvas weaving should be condenced.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation
of (A)

3. (A)istrue but (R) is false
4. (A)is false but (R) is true

Options :

92090653073. 1
92090653074. 2
92090653075. 3
92090653076. 4

Question Number : 69 Question Id : 92090613436 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hra g1 e feu mu E ¢ uw HfueH (Assertion A) % w9 § fofiag & 91 ggu 356 Fwwr
(Reason R) & &9 7 :

AR (A) :  deia T3] o To0 G370 & a1ai § &4 g9 61 3990 fha1 e & 997 356
feru T 3ugs Hag/ae1 499 2|

=W (R) : defE ol & foru Saae i G918 e BT =E |

3T FUH & AT 5, Ji fou v fawet 9 @ w96t 3w = =51 Fifsw

(1) (A) 3R (R) GHI @A & 31 (R), (A) i = =@ 2 |

(2)  (A) 3 (R) gF1 & &, @i (R), (A) it =t =amen 78 21

(3) (A)H= &, ©ifed (R) AT & |

(4) (A) 35F 7, o (R) T4 21

Options :
92090653073. 1
92090653074. 2



92090653075. 3
92090653076. 4

Question Number : 70 Question Id : 92090613437 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Albrecht Ddrer was also a brilliant draughtsman and he
created many prints.

Reason (R) : “Adam and Eve" is not his famous engraving.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4.  (A)is not correct but (R) is correct

Options :

92090653077. 1
92090653078. 2
92090653079. 3
92090653080. 4

Question Number : 70 Question Id : 92090613437 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4 21 %A fou mu ;v Hfiwya (Assertion A) % =9 d fafed 2 a1 gou 3o wr
(Reason R)% =9 H :

AYHYA (A) ;TR Y U Ye§g FeeEfEd oft o 3 359 "gd @ wfes |\
0 (R) : ‘wEn Y g9’ Ioeht ufhg Seersht /SRt 98 2

I HYF * A °, F9 fou mu fawei 4 9 geay 39y I 1 999 Fif

(1) (A) 3R (R) 21 ot & 3ft (R), (A) 1 ot =men 2
(2)  (A) 3 (R) 21 o &, &ifFa (R), (A) 1 gt smen 78 2
(3) (A) = 2, @fe (R) &t 781 2|
(4) (A T T 2, sfe (R) T 2
Options :
92090653077. 1
92090653078. 2

92090653079. 3
92090653080. 4

Question Number : 71 Question Id : 92090613438 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Constantin Brancusi's sculptures are comparable to that of
Picasso's paintings.

Reason (R) : Because Brancusi was born in Germany and was already an
accomplished artist when he arrived Paris in 1904.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :
92090653081. 1
92090653082. 2



92090653083. 3
92090653084. 4

Question Number : 71 Question Id : 92090613438 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 g %9 fgu U E : uH & ANEEE (A) 3 L F FAW (R) & FI G oFd (Al
TI'EIT%:

AfHeH (A) :  HiEefed aFragEl H gidal & e fusemt & fasmwensi | & T
Hhel & |

FU (R) : Fifeh F-GHT &1 T0 T § §I A1 3 99 1904 ° 98 ufE 3w a1
9% U TG SHellhi o1 |

IR BT % e §, F g o et § & T suge I 9
(1)  (A) 3R (R) gH1 5& & 31 (R), (A) i T& = 2 |

(2) (A 3 (R) gF1 @&l &, @i (R), (A) &1 g8t =ame 72 2 |
(3) (A)®#l &, &fha (R) &l 781 2 |

(4) (A =& FE 2, @f (R) 98 2|

Options :

92090653081. 1
92090653082. 2
92090653083. 3
92090653084. 4

Question Number : 72 Question Id : 92090613439 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Satish Gujral was a famous painter, sculptor and architect,
born in 1925.
Reason (R) : He was highly influenced by the Mexican Mural Paintings.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

92090653085. 1
92090653086. 2
92090653087. 3
92090653088. 4

Question Number : 72 Question Id : 92090613439 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 g e feu o 2 ;v sfuseR (Assertion A) % &9 ¥ foifia 2 @1 go0 38% Faw
(Reason R)& &9 ¥ :

sfye (A) . =4 1925 § 9 Tdt 90 v witg fesen, gfden qu angsr 9
FI (R) : a8 Affget = fufs fa=i g =ga wwafea g

IANE FYA F AeF 4, fi= e mo fawedi § @ gen 3wy I #1977 Fifaw

(1) (A) 3 (R) g1 @& 2 3 (R), (A) it =dl =men 21

(2) (A 3 (R) §F1 @@ €, Sfe (R), (A) 1 ot e T 2
(3) (A) @ 2, wfe (R) &8t 781 2 |

(1) (A =R 2, |fF (R) = )

Options :

92090653085. 1
92090653086. 2
92090653087. 3



92090653088. 4

Question Number : 73 Question Id : 92090613440 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement-| :  Sculptor Bernini is from 18th century.
Statement-Il :  Sculptor Henry Moore is from 20th century.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both Statement-| and Statement-Il are correct
2.  Both Statement—l and Statement-Il are incorrect
3 Statement-| is correct but Statement-l| is incorrect

4. Statement-| is incorrect but Statement-|l is correct

Options :

92090653089. 1
92090653090. 2
92090653091. 3
92090653092. 4

Question Number : 73 Question Id : 92090613440 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 2 %y fou T E

Fo9 (D) :  TideR a1 188 A 9 8 |

FuF (II) :  gfder &1 93 206 wamsd & 21

IR H2H o AT H, Ao fou U famedt § & a4 39gad I H T94 T
(1) = (D) 3R (D) <1 &t £ |

(2) % (1) 3R (11) gHi 7o & |

(3) A () |&l &, wifh7 & (1I) 7o € |

(4) & (1) TeTd 8, it e (I0) &l 2 |

Options :



92090653089. 1
92090653090. 2
92090653091. 3
92090653092. 4

Question Number : 74 Question Id : 92090613441 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement-| : In monotype printing method, edition printing is not possible.
Statement-Il : For making monotype printing, zinc plates can also be used.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both Statement-| and Statement-Il are correct

2. Both Statement-| and Statement-|l are incorrect

3. Statement-| is correct but Statement-Il is incorrect

4. Statement-l is incorrect but Statement-Il is correct
Options :

92090653093. 1
92090653094. 2
92090653095. 3
92090653096. 4

Question Number : 74 Question Id : 92090613441 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



f g =y fogu mo 2

weA (1)

ThereEy fufén fafy 4 ofgsm (Edition) fufén =6 gy =8 21

FY (1) : vehemrEy fufen a9 & fow e (Ia) wel & 3am ot e o g 21
I HYF + A °, A9 fou mo fasedi 4 1 geg 39y I #1999 FHifu

oA (1) 3 (1) 21 =t &

FU (1) 3 (11) gHT Terd B |

(1)
(2)
(3)
(4)

Options :

FA (1) T8t 2, wifee &= (1D Ted 2 |
FYA (1) Teia 2, dfeha & (1) T8t 21

92090653093. 1
92090653094. 2
92090653095. 3
92090653096. 4

Question Number : 75 Question Id : 92090613442 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement-l :  Nefertiti sculpted head is preserved in the Berlin Museum.

Statement-Il : Nefertiti sculpted head is found from Mesopotamia.

In the light of the above statements, choose the correct answer from the options

given below.
1. Both Statement-| and Statement-l| are true
2. Both Statement-l and Statement-I| are false
3. Statement-l is true but Statement-l| is false
4. Statement-l is false but Statement-Il is true
Options :

92090653097. 1
92090653098. 2
92090653099. 3
92090653100. 4



Question Number : 75 Question Id : 92090613442 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A & e fen Mo R

wud (1) ;. wfafa &1 q@ fre foen guere § wdfim 2

wuT (1) - sefafa 1 g foren Famrerfen g om g3

IUIF HYA & AeH U, [ feu m fawea 0 9@ gd 3w @ 59w Fifau .
(1) A (1) 3 (1) g1 & & |

(2) A (D) 3R (1D TH1 375 ¢ |

(3) A (1) 779 2, & %o (1) 37893 2

(4) YA () 7S 2, dfeF F2 (1) 73 2|

Options :

92090653097. 1
92090653098. 2
92090653099. 3
92090653100. 4

Question Number : 76 Question Id : 92090613443 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :
Statement-I : Fresco Bouno is a wet process of Mural painting.
Statement=Il : Fresco technique is also used on canvases.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both Statement-| and Statement-|l are correct

2. Both Statement-| and Statement-Il are incorrect

3. Statement-| is correct but Statement-Il is incorrect

4. Statement-| is incorrect but Statement-Il is correct
Options :

92090653101. 1
92090653102. 2
92090653103. 3



92090653104. 4

Question Number : 76 Question Id : 92090613443 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e g1 e fog Mo R -

®2A (1) : et w13 2e 9 6 us a9 /fedt afem 2
®oq (11) : Seh! TR 1 I Frarg 7 i e smar 2

I HYA = e |, A= fgu o fameni 4 @ wen IwE I 9 i
(1) == () 3R (1D) g1 =81 & |
(2) U () 3 (1) 1 Tea 2 )
(3)  HYH (D) Tt 2, wifera w24 (1) 7o 2
(4) A (1) T4 2, A e (1D 98 2 |
Options :
92090653101. 1
92090653102 2

92090653103. 3
92090653104. 4

Question Number : 77 Question Id : 92090613444 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement-l : While using earth colours for painting, a binder is needed to
mix with.
Statement-ll : The basic colour of Pevadi is yellow.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both Statement-| and Statement-Il are correct
2. Both Statement-| and Statement-Il are incorrect
3.  Statement-| is correct but Statement=l| is incorrect

4.  Statement-l is incorrect but Statement-Il is correct
Options :



92090653105. 1
92090653106. 2
92090653107. 3
92090653108. 4

Question Number : 77 Question Id : 92090613444 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1= 21 oA fow o 2
wg4 (1) . yfa/urfas @1 g foa s owa et @uaerlt &t frem <6 smavsa
&l 21

w99 (11) : vardt =1 qat 1 Jen 21
I HYH * A |, A feu m fawedi | o gen Iuge I % 999 i
(1) =& (1) i (10) 3 @t 2
(2) YA () AR (1) A1 mea &

(3)  *¥A (1) gdl 2, wfe= 5= (1) 7| 2
(4)  FEA (1) 79 2, e w2a (1) 981 2|

Options :

92090653105. 1
92090653106. 2
92090653107. 3
92090653108. 4

Question Number : 78 Question Id : 92090613445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :
Statement-| : Impasto method is used in oil painting.
Statement-Il :  Glue is not the component of making Gouache painting.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both Statement-| and Statement-Il are correct

2. Both Statement-I| and Statement-Il are incorrect

3. Statement-I| is correct but Statement-Il is incorrect

4,  Statement-l is incorrect but Statement-Il is correct
Options :

92090653109. 1
92090653110. 2
92090653111. 3
92090653112. 4

Question Number : 78 Question Id : 92090613445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= gf YA e MU E

wuA () defa Taa == % forg geameet fafi < swion fepan sman 2

=y (1) : e o= 99 & Tofu 7ig v 9o 81 & |

IUAITh YA & el °, i feu mu famedl § @ ded 3uged S6 T =9 Hif
(1) = (I) 3R (1) 31 5 2 |

(2) A (I) AR (ID) A1 7@ 2 |

(3) =uA (I) 981 &, 91 A (11) 7o £ |

(4)  wYA (1) Terd &, iy (1) 941 2 |

Options :

92090653109. 1
92090653110. 2
92090653111. 3
92090653112. 4



Question Number : 79 Question Id : 92090613446 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :
Statement-I : “The Gates of Hell" is created by Rodin.
Statement-Il : The “Fourteen-Year-Old Dancer” is also created by Rodin.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both Statement-l and Statement-Il are correct

2. Both Statement-I| and Statement-I| are incorrect

3. Statement-l is correct but Statement-l| is incorrect

4. Statement-| is incorrect but Statement-ll is correct
Options :

92090653113. 1
92090653114. 2
92090653115. 3
92090653116. 4

Question Number : 79 Question Id : 92090613446 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i <1 e feg e E

FT (D) : T EH A B G (97 Ul T T |

F9 (1) : ‘T M 3 3Ales S 19 Hia off U $1 7

ITH YA & A 4, T feu v fawedi § 9 ga9 3ugad I &1 959 Hif -
(1) & (D) 3R (1D 3 & & |

(2) A (1) 3R (1) =1 T 2 |

(3) == () =& 2, wif 2= (1) o 2
(4)  F¥F () T 8, i wuE (1) 981 2 |

Options :
92090653113. 1



92090653114. 2
92090653115. 3
92090653116. 4

Question Number : 80 Question Id : 92090613447 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement-I : Ajanta Cave paintings depict Jataka Stories.
Statement-Ill : Jataka Stories consist of the life stories of Shiva.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1.  Both Statement-| and Statement-|| are correct
2. Both Statement-| and Statement-Il are incorrect
3. Statement-| is correct but Statement-Il is incorrect

4.  Statement-| is incorrect but Statement-I| is correct

Options :

92090653117. 1
92090653118. 2
92090653119. 3
92090653120. 4

Question Number : 80 Question Id : 92090613447 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a2 %o feg e €

Fu (I):  37=ar 6t THI3A & fa7 Jaes Fans +1 g9 2|

A (1) : Taeh YU 31" % Siaq 90| ° =4 8 |

ITUH HY & AT o, = Gu e fawedi o % 5a8 3999 I 61 994 il

(1)
(2)
(3)
(4)

e (I) 3R (1) g1 #et & |
=44 (1) 3T (I1) BH1 Tord £ |
FoA () Tél 2, wifera %2 (1) 7o 2|
w4 (1) 7Terd &, it % (1) @& 2 |

Options :

92090653117. 1
92090653118. 2
92090653119. 3
92090653120. 4

Question Number : 81 Question Id : 92090613448 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement-l : Akbar's Tomb is situated in Lucknow, Uttar Pradesh.

Statement-Il : Buland Darwaza is situated in Agra, Uttar Pradesh.

In the light of the above statements, choose the correct answer from the options
given below.

1.
2.
3.
4.

Both Statement-| and Statement-I| are true
Both Statement-| and Statement-=l| are false
Statement-| is true but Statement-Il is false

Statement-| is false but Statement-Il is true

Options :

92090653121. 1
92090653122. 2
92090653123. 3
92090653124. 4



Question Number : 81 Question Id : 92090613448 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i @1 Y ey e E

Y () :  3THEL 1 Ahal I U6y $ oE+S o 1290 2 |

Fo (1) : geig gaTA I 9eW = AT H fod 2 |

I HU & AT 4, = fou T fawedi 4 & v I3 w1 977 FHifaw
() FW DI ADSH TF 2 |

(2)  H (1) 3 (1) <A1 353 & |

(3)  =¥A (I) 53 2, wifeed &2 (1) 379 2|

(4) wA (1) 3193 &, A s (1) FF 2 |

Options :

92090653121. 1
92090653122. 2
92090653123. 3
92090653124. 4

Question Number : 82 Question Id : 92090613449 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct sequence of the ruling dynasties in chronological order :
A.  Mauryas

B. Pallavas

C. Kushanas

D. Guptas

Choose the correct answer from the options given below.

1. A GC,D B
2. B,ACD
3. CBDA
4 D,AB,C

Options :



92090653125. 1
92090653126. 2
92090653127. 3
92090653128. 4

Question Number : 82 Question Id : 92090613449 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Freferfiaa =t wemraan safeud +i)
(A) ud
(B) oo
(C) F9H
(D) T

H= feu v faweqi ¥ € 9F I %1 =994 St

(1) (A) (O), (D), (B) (2) (B), (A), (C), (D)
(3 (C) (B), (D). (A) 4) (D), (A), (B), (C)
Options :

92090653125. 1
92090653126. 2
92090653127. 3
92090653128. 4

Question Number : 83 Question Id : 92090613450 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct sequence of the art movements in chronological order :
A. High Renaissance

B. Egyptian

C. Proto-Renaissance

D. Byzantine

Choose the correct answer from the options given below.

1. AB.C,D

2. B,DCA

3. C/DBA

4 D,ACB
Options :

92090653129. 1
92090653130. 2
92090653131. 3
92090653132. 4

Question Number : 83 Question Id : 92090613450 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FeAl HTGICHT i HITHATTER Ha L i |

(A) F=d FHAIE
(B) Tt e

(C) T/ AT qFARR
(D) =TEeATeET Fen

e feu 7o fawedt & 98 3 w1 994 S

(1) (A, (B), (C), (D) 2 B), (D). (O), )
Options :

92090653129. 1
92090653130. 2



92090653131. 3
92090653132. 4

Question Number : 84 Question Id : 92090613451 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct period of Indian Sculptures chronologically :
A. Mauryan

B. Satavahana

C. Sunga

D. Kushana

Choose the correct answer from the options given below.

1. A, C,B,D

2 B,DAC

3. CADB

4. D,B,AC
Options :

92090653133. 1
92090653134. 2
92090653135. 3
92090653136. 4

Question Number : 84 Question Id : 92090613451 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YR FIeTshell % $1e I HIeHHAHER Fared # |
(A) =

(B) waare

(C)

(D) FIH

= few v famredt 4§ 98 I %1 994 e

(1) (A, (O), (B), (D) (2) (B), (D), (A), (C)
(3 (0), (A), (D), (B) (4) (D), (B), (A), (C)
Options :

92090653133. 1
92090653134. 2
92090653135. 3
92090653136. 4

Question Number : 85 Question Id : 92090613452 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Set the style of Western sculptural period in chronological order :
A. Renaissance

B. Medieval

C. Mannerism

D. Classical

Choose the correct answer from the options given below.

1. B,ACD

2. ABCD

3. D,BAC

4 C,D,BA
Options :

92090653137. 1
92090653138. 2



92090653139. 3
92090653140. 4

Question Number : 85 Question Id : 92090613452 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UTFET FHedehell o Id I HICHATTEN Saedd i |

(A) YA
(B) #e=RmE
(C) =HfTTd == /5
(D) W=t

I feu v fawedi 4 ° 96 I+ =99 Fifsu:

(1)  (B), (4), (C), (D) (2) @A), B), (C), D)
(3) (D), (B), (A), (C) (4) (C), (D), (B), (A)
Options :

92090653137. 1
92090653138. 2
92090653139. 3
92090653140. 4

Question Number : 86 Question Id : 92090613453 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are used for digital printing?

A. RGB

B. Serigraphy

C. Thermography
D. CMYK

E: FLEX

Choose the correct answer from the options given below.
1. A,C,Eonly
2. A D, Eonly
3. B,D,Eonly

4. C,D, Eonly
Options :
92090653141. 1
92090653142.2
92090653143. 3
92090653144. 4

Question Number : 86 Question Id : 92090613453 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fefaea fafén & fou fma & & o =1 39am foeen w27

(A)
(B)
(C)
(D)

(E)

AR SLEL (RGB)
HmTh

IR C

Ht.ug amE.%. (CMYK)

UF. U374, (FLEX)

= feu mu foweT § 9 w6 I %1 999 Fifw

(1) == (A), (C), (E) (2) == (A), (D), (E)
(3) %= (B), (D), (E) (4) = (C), (D), (E)
Options :

92090653141. 1
92090653142. 2
92090653143. 3
92090653144. 4

Question Number : 87 Question Id : 92090613454 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Out of the following which statement(s) is/are correct?

A
B
C.
D
E

Binder is used as a medium in Tempera painting.

The Mural painting can also be done in Tempera medium.
Turpentine oil is used in Tempera painting.

Tempera painting can be placed in moisture place.

Tempera painting can be made using poster colour.

Choose the most appropriate answer from the options given below.

1. Aonly

2. B,Eonly

3. E, Aonly

4. A B,Eonly



Options :

92090653145. 1
92090653146. 2
92090653147. 3
92090653148. 4

Question Number : 87 Question Id : 92090613454 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fr=fafaa 8 3 =1 & 97 94 €7

(A) g Teai & Suehi i U Ay 1 dE 990 R S # |
(B) 2w Hifeam & v (fufafes) dfén ot 57 s wedt 2|
(C) ¢Pr dfd § ardie = o 1 39T fman sman 21

(D) = To=1 i A 901 TF W W@ S Sl € |

(E)  2oqay 9fdm =h1 902t @1 o1 3990 it S48 91 96T £ |

i< feu U fashedl o § 999 39EE I H T4 HifU:

(1)  Fad (A) (2) = (B), (E)
(3) g (E), (A) (4) e (A), (B), (E)
Options :

92090653145. 1
92090653146. 2
92090653147. 3
92090653148. 4

Question Number : 88 Question Id : 92090613455 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Out of the following which of the statements are correct?

A.  Mathura was a main centre of the Kushana period.

B. Shalbhangikas have been carved on the Vedic Pillers of Stupa.

C. Most of Kushana period sculptures are collected in the Mathura Museum.
D

Few Kushana period sculptures are collected in the National Gallery of
Modern Art, Delhi.

E. Buddha and Jain sculptures are created in Kushana period.

Choose the most appropriate answer from the options given below.

1. A, Conly

2. A B,C Eonly

3. A B,Eonly

4. A, C,Bonly
Options :

92090653149. 1
92090653150. 2
92090653151. 3
92090653152. 4

Question Number : 88 Question Id : 92090613455 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fr | & #1978 o wd Er

(A)  FIH FTel F LI FZ RYT U1

(B) =9 & afgsw vl w wenifieend sehiffa &)

(C) o et =t sifussre gfdat ayo duegen 4 ol 2

(D) F9H w1 1 %8 gfdfal feeeh % Jome el e wied wé 4§ dufem &)
(E) 9g a9 3 qfdaf F9m et | &4 |

4 fou 7o fasredi d 8 98 39w I w1 =9 Fifau

(1) = (A), (C) (2) %ad (A), (B), (C), (E)
(3) = (A), (B), (E) (4) Fa (A), (C), (B)
Options :

92090653149. 1
92090653150. 2
92090653151. 3
92090653152. 4

Question Number : 89 Question Id : 92090613456 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Out of the following which are correct statements?
A. Henry Moore was a British sculptor.
B. Henry Moore was 21st century sculptor.
C. Henry Moore also did many lithograph prints.
D. Henry Moore rejected classical and Renaissance ideas of beauty.
E. Henry Moore died in 1950.
Choose the correct answer from the options given below.
1. A,Bonly
2 A, C, D only
3. ABCNDE
4

B. E only



Options :

92090653153. 1
92090653154. 2
92090653155. 3
92090653156. 4

Question Number : 89 Question Id : 92090613456 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 8 & 217 & 27 vdt €7

(A) & 9w fafew forersm o)

(B) &l gz 21 srenedt =1 firewshm |

(C) #0099 987 § AYHYg] Sr= 70 |

(D) &0 o 3 Hied % W a9 [ & faan # srEfimn w5 fo |
(E) &f 7 =i g a4 1950 § g3 |

= fou o fasredl © @ wEE ITE I H T Hifau:

(1) Faa (A), (B) (2) Faa (A), (C), (D)
(3) e (A), (B), (C), (D), (E) (4) #aa (B), (E)
Options :

92090653153. 1
92090653154. 2
92090653155. 3
92090653156. 4

Question Number : 90 Question Id : 92090613457 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Out of the following which are the correct statements?

A. Basohali, Chamba, Guler and Kangra are the centres of miniature of Pahari
painting.

Pahari miniature painting are based on subject of Barah-masa.
The Sansar Chand promoted Kangra style of paintings.

Nihal Chand was a painter of Pahari miniature painting style.

m o o W

Mola Ram was a painter of Kishangarh miniature style.
Choose the most appropriate answer from the options given below.
1. A, Bonly

2. A B,Conly

3. B,Conly
4 A Conly
Options :

92090653157. 1
92090653158. 2
92090653159. 3
92090653160. 4

Question Number : 90 Question Id : 92090613457 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= 08 & 4 %y g8 87

(A)
(B)
(©)
(D)

(E)

FTETEC, JwE, Tl 991 HITSl, TEE Hawhel & Tl & &3 & |
et e et anE g fawy @ smnfa #)

TEREE 1 Himel Seft i Faasmenati & defea o |

Trerereg varst ergfea wen Sl 1 fawwn a1

ey fFeriTe ergf siefi &1 ue faasr a1

e feu o faweut 4 & 98 I w1 994 Hifau:

(1) %aa (A), (B) (2) = (A), (B), (C)
(3) a4 (B), (C) (4) a4 (A), (C)
Options :

92090653157. 1
92090653158. 2
92090653159. 3
92090653160. 4

Question Number : 91 Question Id : 92090613458 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



According to ‘Raipal Nelson' which of the following qualities should be in a
‘Commercial Logo'?

A. Symbol, Logotype, Monogram, Pictogram

B. Letter Head, Visiting Card, Envelope, Banner, Poster

C. Individuality, Readable, Influential, Re-producible, Easy to recognize
D. Solid, Creative, Proposed, Remarkable

E Main name, Main symbol design, Main type face, Main colour

Choose the most appropriate answer from the options given below.

1.  E,Donly

2. Conly

3. Donly

4. A Bonly
Options :

92090653161. 1
92090653162. 2
92090653163. 3
92090653164. 4

Question Number : 91 Question Id : 92090613458 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TETTE Jeed % ATEn R arfifsre @ (logo) d Fret o1 &1 =nfaw |
(A) wdteh, SR, gEmm, faafaf
(B) i, fafafen =, feremer, 3, oe
(C)  Safereha, vgd A1 (Tet), wregul, FHEemea, sfe
(D) 3, HelATo, WedTEd, FEHE
(E) &3 9, 91 W 1 5, 7 2reasa, g T

e feu o foerel | @ T IUgE I w1 T9R S

(1) & (E), (D) (2) Fad (C)
(3) Hae (D) (4) = (A), (B)



Options :

92090653161. 1
92090653162. 2
92090653163. 3
92090653164. 4

Question Number : 92 Question Id : 92090613459 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List—| with List-l :

Match the Appropriate Combination of Material and Techniques.

List— List-II
(A) Scraper bar machine (I) Silk screen
(B) Cylinder based machine (ll) Aquatint
(C) Rosin (1) Intaglio printing
(D) PVC inks (IV) Lithographic printing

Choose the correct answer from the options given below :

1. (A B)-(); (C)-(1); (D}(IV)

2. (Ay(IV): (B)=(II1); (Cy=(11): (D))

3. (A1) B)(): (C)=(I): (D)-(V)

4. (A1) (BY(IV); (CH1); (D)-(lIT)
Options :

92090653165. 1
92090653166. 2
92090653167. 3
92090653168. 4

Question Number : 92 Question Id : 92090613459 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt 1% |19 5= 11 &1 faem $ifor | smmft a2 qe-ie &1 3faa 59re- a41 |

gl 1 T 11
LEZIES eyl
(A) TP 91 "I (I) TaepshE
(B) faferst smafig asfig (II) u=Tée
(C) U= (IT1) sefreran fafem
(D) .t (IV) rwagfza (feem) fufén

e feu 7o fawmeat & & @F 3T w1 994 $ifw

(1) (A)-ID), (B)-(1I), (C)-(I), D)-(IV)
(2)  (A)-IOV), (B)-(II), (C)-(I), (D)D)
@) (A)-D), B)-AI), (O, M)-IV)
(4)  (A)-(ID, (B)-(IV), (C)-(I), (D)-(1II)

Options :

92090653165. 1
92090653166. 2
92090653167. 3
92090653168. 4

Question Number : 93 Question Id : 92090613460 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—| with List—Il :

Match the artist with their styles given below.

List-I List—II
(A) Giovanni Pisano (I) Baroque
(B) Ghiberti (Il) Renaissance
(C) Houdon (I11) Medieval
(D) Algard (IV) Neo-Classical

Choose the correct answer from the options given below :
1o (A B)-(); (CHAV): (D))
2. (A-(IV); (B)-(1); (C)=II); (D)-(1l1)
3. (A1) BN, (C)~(I); (D)~(IV)
4. (A)(I); (B=(IV); (CH(1); (D)y(I)

Options :

92090653169. 1
92090653170. 2
92090653171. 3
92090653172. 4

Question Number : 93 Question Id : 92090613460 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt 1% a1y gt 11 %1 e Sifau | eer &1 saeh! Aol & @1y Hem w1

Tt 1 = 11
FATHR ST
(A) =g T I) @R
(B) e (D) =R
(C) =r3eA (I11) 51l =
(D) AeEl (IV) Fa-3meiig

= feu mu fawedt @ & 98 3w w1 994 Fifaw

(1) (A)-(UD), (B)-I), (C)-(IV), (D)-@)
(2)  (A)-AV), (B)-(), (O)-(ID), (D)-(111)
@  (A)-D, (B)-11D), (C)-(IL), (D)-(AV)
(4)  (A)-(D, (B)-AV), (C)-(D), (D)-(I1I)

Options :

92090653169. 1
92090653170. 2
92090653171. 3
92090653172. 4

Question Number : 94 Question Id : 92090613461 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—| with List—Il -

Match the Artist with their Art works.

List— List-Il
(A) Vincent Van Gogh (I) Nude Descending a Staircase
(B) Henri Matisse (Il) Large Red Interior
(C) Marcel Duchamp () The Starry Night
(D) Salvador Dali (IV) The Persistence of Memory

Choose the correct answer from the options given below :
1. (A (B (CH(IV): (DY)
2. (A(Il); (B)-(I); (C)-(IV); (D)~(1)
3. (A(); (B)=(I); (C)-(1): (D))
4. (Al (B)=(1); (C)=(ll); (D)-(IV)

Options :

92090653173. 1
92090653174. 2
92090653175. 3
92090653176. 4

Question Number : 94 Question Id : 92090613461 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl 1% @1y gt 11 %1 e Sifau | FHemhn &1 361 Ferhid ° e &l

g 1 g 1l
FATHR FHeAThid
(A) M T (1) =gz fedfen 1 wwwera
(B) = {3 séifan (ID) & 4da
(C) e g5 (I1I) T =/ A1
(D) HeaTSH STt (IV) T wfeeda e fud

= feu v fawedt @ & w8 3 w1 994 Hifaw

(1) (A)-M), B)-AD), (C)-(IV), (D)-(11T)
(2)  (A)-ID, (B)-(IID), (C)-(IV), (D)-(T)
(3)  (A)-IID, (B)-(D), (C)-(I), M)-(AV)
(4)  (A)-ID, (B)-(D), (C)-(1D), (D)-AV)

Options :

92090653173. 1
92090653174. 2
92090653175. 3
92090653176. 4

Question Number : 95 Question Id : 92090613462 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—| with List—Il :

Match the Artist with the place he belongs to.

List—l List-I
(A) Donatello () Mantua
(B) Andrea Mantegna (Il) Florence
(C) Raphael () Correggio
(D) Correggio (V) Rome

Choose the correct answer from the options given below :
1. (AR (BY=(1): (CH=(IV): (D))
2. (A1) (B)I): (C)(Il); D)~(IV)
3. (A(): B)-(II); (C-(IV); (D))

4. (AIV); (B)(1): (C)(II): (D)=(11)

Options :

92090653177. 1
92090653178. 2
92090653179. 3
92090653180. 4

Question Number : 95 Question Id : 92090613462 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=t 1% |y gt 11 1 fire Sifau | waeen &1 3896 ©F % 8919 fies &1

T 1 = 11

FHATHR A
(A) SHEEEA M) =R
(B) u=gan Him (1) weirE
(C) THEA (I11) =it
(D) =rfsEm (IV) Tm

fre feu o fameai 1§ @ I %1 999 e .

(1) (A)-aD), (B)-(D), (C)-(IV), (D)-(I1I)
(2)  (A)-@), (B)-aD), (C)-(11I), (D)-AV)
(3)  (A)-I), (B)-D, (C)-AV), (D)-(I)
(4)  (A)-AV), B)-(), (C)-(I0), (D)-(I1I)

Options :

92090653177. 1
92090653178. 2
92090653179. 3
92090653180. 4

Question Number : 96 Question Id : 92090613463 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—] with List—II :

Match the following Temples with their periods.

List—I List-lI

(A) Temple of Bheetargaon () Sunga period

(B) The top head of the (I) Chalukya period
Ashoka Lion Pillar

(C) Sanchi Stupa (1) Mauryan period

(D) Papanatha Temple (IV) Gupta period

Choose the correct answer from the options given below :

T A1V (B)=(l); (C)(1): (D))

2. (A(IIl); B)=(Il); (CH-(V); (D)
3. (A(): (BY(I); (C)-(IV); (D)-(1I)
4. (A(IV); (B)=(II): (C)=(ll1): (D)~(1)
Options :

92090653181. 1
92090653182. 2
92090653183. 3
92090653184. 4

Question Number : 96 Question Id : 92090613463 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt 1 99 gt 11 =1 foem Fifs | 9fetl =1 % F1a & 919 Tem #:1

Tt 1 gt 11
Hfex 3!
(A) et 71ia =1 =it (I 37 F
(B) 3w g =y =1 F=aqy ¥ (I) =Teled e
(C) widi wqu (I11) ¥ 1
(D) wT9=TY i (IV) T ST

= few v fareat & © 98 I w1 9549 i

(1) (A)-IV), (B)-(1), (C)-(D), (D)-1AD
(2)  (A)-aI), (B)-(ID), (C)-aV), (D)-(I)
(3)  (A)-(), (B)-II), (C)-(AV), (D)-(I1I)
(4)  (A)-IV), (B)-(1D), (C)-A1D, (D)-(D)

Options :

92090653181. 1
92090653182. 2
92090653183. 3
92090653184. 4

Question Number : 97 Question Id : 92090613464 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—I| with List=Il :

Match the following in view of elements of painting.

List—I List—II
(A) Symmetrical (I) Light tone
(B) Dimension of form (Il) Rest
(C) Yellow colour () Triangle
(D) Horizontal line (IV) Light shade

Choose the correct answer from the options given below :

1. (A1) B)II): (C-(V): (D)~(1Il)

2. (A-(IV); (B)=(Il); (C)-(lI); (D))
3. (A)(I); (B)-(IV); (CH-(1): (D)~(II
4. (A}=(1); (B)=(11); (CH(IV); (D))
Options :

92090653185. 1
92090653186. 2
92090653187. 3
92090653188. 4

Question Number : 97 Question Id : 92090613464 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt 1% a9 g= 11 %1 T Sifag | 9fen % 370:399 &1 368 dl & a1 0o s #1K |

il = 11
(A) =ofHa (I) &eshr 34
(B) T=&9 &1 7AEM (I1) zmar
(C) e (I1T) frepmor
(D) &f= G (IV) el 31E (TT)

= feu 7u foeTt § ® w6 s % 959 Fifau

(1) (A)-(D), (B)-(AD), (C)-(IV), (D)-(11I)
(2)  (A)-IV), (B)-(I1D), (C)-(1), (D)-(T)
(3) (A1), (B)-(IV), (C)-(D), (D)-I)
(4)  (A)-(II), (B)-(I1), (C)-(IV), (D)-(D

Options :

92090653185. 1
92090653186. 2
92090653187. 3
92090653188. 4

Question Number : 98 Question Id : 92090613465 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List=Il with List=Il :

Match the following colour with their impacts.

List— List—I1
(A) Green () Sad
(B) Black (1) Happy
(C) Yellow (1l1) Development
(D) Violet (IV) Royal

Choose the correct answer from the options given below :

1. (A(); (B)=(1); (C)=(I); (D)-(IV)

2. (A)(lIt); (B)=(1): (C)(I1): (D)~(IV)
3. (A-(V): B)=(1); (C)~(II); (D)~(1)
4. (A(1); (B} (CH(IV); (D)—(111)
Options :

92090653189. 1
92090653190. 2
92090653191. 3
92090653192. 4

Question Number : 98 Question Id : 92090613465 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 1 919 gt 11 &1 e Fifa | 31 &1 396 9919 & 719 0o &1

T T 11

a1 PEIE]
(A) & O 3ITM
(B) =rem (IT) 5=
(C) dien (I11) o=
(D) st (IV) e

e feu v famedt 4 & 98 I %1 95949 i

(1) A)-aD, (B)-(D), (C)-(I1D), (D)-1V)
(2) (M-I, (B)-(D), (C)-(ID), (D)-(IV)
(3 A)-av), B)-1D, (C)-(a11), (D)-@)
(4)  A)-D, (B)-AD), (C)-AV), (D)-(I1D)

Options :

92090653189. 1
92090653190. 2
92090653191. 3
92090653192. 4

Question Number : 99 Question Id : 92090613466 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-II :
Match the following for preparing oil painting.
List- List-I

(A) Technique of oil colour (1) Applying white coats on canvas

(B) Sizing (I1) Hog hair

(C) Priming (Ill) Dark to light tone

(D) Qil colour brush (IV) Stretching canvas on a wooden
frame

Choose the correct answer from the options given below :
1. (Al B)-(); (CI-(IV); (D)=(1l)
2. (A)(Ilt); (B)(II); (C)-(1): (D)-(V)
3. (A(IV): (B)=(1); (C)=(I):; (D)=(lIT)

4. (Ay-(); (B)-(IV); (C)-(1): (D)=(1)

Options :

92090653193. 1
92090653194. 2
92090653195. 3
92090653196. 4

Question Number : 99 Question Id : 92090613466 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) W)-AD), (B)-(D), (C)-(IV), (D)-(1I)
(2)  (A)-aID), (B)-(0), (C)-(I), (D)-(IV)
(3 (A)-aV), (B)-(), (C)-(II), (D)-(I1I)
(4)  (A)-I), B)-IV), (C)-(D), (D)-1AD

Options :

92090653193. 1
92090653194. 2
92090653195. 3
92090653196. 4

Question Number : 100 Question Id : 92090613467 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—] with List—II :

Match the paintings with the artists.

List—I List-Il
(A) Turkish Bath (I) Francisco de Goya
(B) The Oath of the Horatii (I1) Delacroix
(C) The Naked Maja (1) Ingres

(D) Liberty Leading the People (IV) David

Choose the correct answer from the options given below :

1. (A (B)-(IV); (CH=(1); (D}=(11)

2. (A)(l); (BY-(IV); (C)-(11); (D)~(!)
3. (A-(); (B)I); (C)-(I); (D)-(IV)
4. (AHIV); B)-(N): (CH-{1); (D))
Options :

92090653197. 1
92090653198. 2
92090653199. 3
92090653200. 4

Question Number : 100 Question Id : 92090613467 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Hre feu mo feredi § 9wt 3w w1 =wm Sifs

(1) (A)-(I), (B)-(IV), (C)-(1), (D)-(II)
(2) (A, (B)-(IV), (C)-(1I), (D)-(I)
3y (A)-D), (B)-(I1D), (C)-(1D), (D)-(IV)
(4)  (A)-(AV), (B)-(I1L), (C)-(D), (D)-(II)

Options :

92090653197. 1

92090653198. 2

92090653199. 3
92090653200. 4



